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1 Question of the Day

From Erik: Why does (s-exp-1ist? *’hello) evaluate to true?

2 Logistics
2.1 Assignment due tonight at 8PM: use handin target pal.

2.2 Quiz correction due Tuesday night at 8PM: use handin
target cal.

NOTE: please submit a plain text file! Be sure to include your student ID,
name, collaboration statement, and original answers to the quiz along with
your corrections for those questions you missed!



2.3 Reminder of where to find office hours

The syllabus! There’s still some today!

3 Finishing those darn old lectures!

file:2013W1-lecture2.org| file:2013W1-lecture3.org

4 What have we learned today?

From QotD:

e More reinforcing of what syntactic sugar and a desugaring are and what
desugaring means to the programmer and the programming language
designer.
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